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Petrology and geochemistry of the Texenna ophiolites, northeastern Algeria: ��

Implications for the Maghrebian flysch suture zone ��
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Foliated metabasites !5��

In some foliated and banded metabasites (Fig. 7l), the deformation has destroyed all traces of !5!�

the magmatic microstructures, making it difficult to diagnose what the original rock was, !5$�

except when a transition with an undeformed metabasite is observed, which is sometimes the !5%�

case in the vicinity of pillow lavas (Fig. 3e). These metabasites generally consist of a fine-!53�

grained assemblage of clinoamphibole (actinolite to magnesio-hornblende), chlorite !55�

(pychnochlorite), Fe3+-rich epidote, albite (typically, Ab99.8–96.6) sometimes coexisting with !51�

oligoclase, titanite, calcite, with some accessory minerals like apatite and magnetite !50�

surrounded by hematite. In one sample (Pil14), small crystals of phengite !14�

(Ms56Cel32FeCel5Pg3Mrg5), with a significant phengitic Si+1Al IV
-1AlVI

-1(Mg, Fe)+1 substitution !1��

(Si = 6.525 ± 0.101 [1 � ] apfu), were observed. !1��

Variations in the relative abundance of these minerals and grain size determine the banding. !1!�

Fairly homogeneous ribbons, rich in calcite, in epidote (Fig. 7l) or more rarely in dolomite or !1$�

quartz, seem to result from the transposition parallel to the foliation of early veinlets. In the !1%�



transposed veins of epidote, the latter is truncated and its gaps filled with albite and/or calcite !13�

(Fig. 7l). On the other hand, late veinlets of microcline intersect the foliation. !15�

Radiolarite and calcschist !11�
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Greenschist-facies hydrothermal oceanic metamorphism $14�
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